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Question 1.  Find the area of region enclosed between the curves  
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Question 2. Find the volume of the solid that results when the region enclosed by 
22 4,3 xyxy   and 0x  is revolved about the line .5y  
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Question 3.  Find   

  
dt

t

et t

.
)1(

.
.1

2                                     


dx

xx

x
.

2

1
.2

2  












































































































































 

 

 

ce
y

dye
y

dye
y

e
y

evdy
y

du

dyedv
y

u

dye
y

dye
y

dye
y

dye
y

y
dy

y

ey

dtdyty

y

yyy

y

y

yy

yy

y

1

1

2

1

2

1

1

2

1

1

2

1

1

2

1

22

1

.
1

..
1

..
1

.
1

.
1

.
1

..
1

..
1

..
1

...
)1(

1

     


















































































































cxLnxLndx
xx

BB

AA

BxxAx

x

B

x

A

xx

x

x

x

2
2

3

2

1
.

2

2

3

2

1

2

3
23

2

1
21

)2(1

2)2.(

1

2

0

 

 dxxx .tan.sec.3 94  
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  dxxx .sin..4  























































































































cuuuuu

u

u
u

u

dv

u

u

u

duuuduuuu

dx
x

du

xu

cos4sin.4cos.2

cos

sin
cos

sin

0

4
4

2

.sin.2.2.sin.

.
2

1

2

2

2

 


